(a) WT1

a B oy oy, ow Li Ly Ly a a aw bi by by Y PV PV PVow WD p Op Or, Or3 Cnw  kvams  kosw Cum  fe

Blade-Root OoP 18 1 42 2 1 3 1 2 10 0 0 S 2 0 10 1 1 0 0 1 0 0 0 0 0 0 0 0
Blade-Root IP Bend. . 1 42 3 0 1 0 0 9 0 0 10 0 0 6] 0 0 0 0 o0 8 0 0 0 0 0 0 0
Blade-Root Pitch. 15 3 36 4 1 2 2 1 6 1 1 7/ 2 1 8 0 2 1 0 o0 2 0 0 0 0 0 0 0
Shaft 0° Bend. 2 S8 1 0 0 0 0 9 0 0 8 0 0 3 0 0 0 0 o0 5 0 0 0 0 0 0 0
Shaft 90° Bend. 1 40 1 0 1 0 0 8 0 0 6 0 0 4 0 0 0 0 o0 4 0 0 0 0 0 0 0
ShaftTorq. 8 0 1 2 1 9 1 7 1 0 1" 1 2 8 0 2! 1 0 o0 1 0 0 0 0 0 0 0
Tower-Top FABend. 4 1 0 0 1 0 0 2 1 0 S 0 0y & 0 0 0 0 o0 41 0 0 0 0 0 0 0
Tower-Top SS Bend. 7 1 2 0 4 1 2 6 1 0 8 0 1 M3 0 0 0 0 o0 1 0 0 0 0 0 0 0
Tower-TopYaw 6 2 1 1 4 1 1 5 0 0 9 1 0 I 1 1 0 0 o0 4 0 0 0 0 0 0 0
Tower-Base FABend. 3 0| 48 7 0 9 9 1 7 5 0 1 1 1 B9 1 1 1 0 d " 0 0 0 0 0 0 0
Tower-Base SSBend. 4 0 51 4 0 v 4 0 12 2 0 S 0 0 10 0 0 0 0 1 8 0 0 0 0 0 0 0
Generator Power 11 3 12 5 0 3 3 1 1 2 1 17 0 0 9 0 0 0 0 o0 20 0 0 0 0 0 0 0
Turbulence Intensity 1 1 - 3 1 8 2 2 2 0 d 2 3 17 0 4 & 2 0 o0 0 0 0 0 0 0 0 0
b) WT2

@« p o, oo 0w L, L, L, a a a, b, by ( b)w Y PVuw PViy PVyy WD p O Ory Or  Cyw kpams kusw Cum  fe
Blade-Root OoP -3 1 1 -2 0 -1 3 0 -1 1 1 -2 -1 28 1 1 1 1 0 0 0 1 0 0 0 0 0 0
Blade-RootIPBend. 4 1 -2 -2 0 0 1 0 1 1 f 0 0 1 2 0 0 0 0 0 - 0 0 0 0 0 0
Blade-Root Pitch. 0 -3 2 0 0 0 0 -1 1 -1 2 0 0 0 0 2 0 0 1 1 0 1 0 0 0 1
Shaft 0° Bend. 1 1 -2 -1 0 0 0 1 0 1 0 -2 0 1 B0 0 0 0 0 0 0 0 0 0 0 0
Shaft90°Bend. 0 O -5 -1 0 -1 0 1 1 1 0 0 0 1 ) 0 0 0 0 0 0 0 0 0 0 0
Shaft Torg. -3 0 Al =2 =] 0 Al 0 Al 0 2 1l =24 1 0 -2 -1 0 0 0 0 0 0 0 0
Tower-TopFABend. 0 0 -3 1 0 -1 0 0 2 0 0 0 1 1 8 il 0 0 0 0 0 0 0 0 0 0
Tower-TopSSBend. -1 0 -2 1 0 =7) 0 0 1 0 0 1 0 =il =1 0 0 0 0 0 0 0 0 0 0 0
Tower-TopYaw 1 -1 -4 1 -1 1 -1 0 0 1 1 -1 0 17 1 -1 -1 0 0 0 0 0 0 0 0 0
Tower-Base FABend. -2 0 -1 -1 0 -3 -2 il il -2 0 -1 1 -1 0 1 0 -1 0 -1 0 0 0 0 0 0
Tower-Base SSBend. -2 0 -1 0 0 -1 -1 1 4 1 0 1 0 0 2 0 0 0 0 -1 0 0 0 0 0 0
Generator Power : -3 1 0 0 0 -2 -1 0 -1 0 -2 0 0 {: 0 0 0 1 B 0 0 0 0 0 0
Turbulence Intensity 0 ’ 1 . 0 1 0 -1 0 0 0 0 1 2 3 s 1 -1 1 - 1 1 0 0 1 0 0 0 0

(c) WT3

« p o, oo ow L, L, Ly a a aw by by by v PV PV PVyy WD p Orp Ory Or3 Cnxw  kpamv kusw Cum  fe
Blade-RootOoP -2 0 -1 -1 0 -2 1 =l 0 0 1 -1 -1 0o 1 -1 -1 0 0 -1 0 0 0 0 0 0 0 0
Blade-RootIPBend. 0 0 -3 -2 0 0 1 0 0 1 0 { 0 1 1 0 0 0 0 0 - 0 2 0 0 0 0 0
Blade-Root Pitch. -4 -1 2 -2 2 2 0 2 1 0 1 2 -1 1 -2 2 1 0 1 1 -1 1 2 1 1 1 1 1
Shaft0°Bend. 3 -1 0 -1 0 0 0 1 0 1 0 1 0 1 1 0 0 0 0 0 ‘ -5 ‘ 0 2 0 0 0 0 0
Shaft90°Bend. 3 0 -3 A 0 -1 0 0 1 0 0 4 0 1 1 0 0 0 0 0 -4 0 1 0 0 0 0 0
ShaftTorq. -1 0 . 0 -2 0 -1 0 4 -1 1 0 0o -2 1 0 -1 0 iy O -1 0 0 0 0 0 0 0
Tower-Top FABend. -2 -1 -3 1 0 -1 0 0 0 -1 0 2 0 0 = 0 0 0 0 0 - 0 - 0 0 0 0 0
Tower-TopSSBend. -2 0 -1 1 0 -3 0 0 1 0 0 1 0 0 -2 0 0 0 0 0 -1 0 1 0 0 0 0 0
Tower-TopYaw -1 -1 -3 0 -1 -1 -1 -1 0 0 0o -2 -1 17 1 -1 -1 0 (N O -4 0 1 0 0 0 0 0
Tower-Base FABend. -2 1| -5 {l 2 -2 -3 2 2 -2 1 0 -1 0 -2 1 -1 2 0 -1 0 - 0 0 0 0 0
Tower-BaseSSBend. 0 0 4 -1 0 -1 -3 0 2 -2 0 4 0 0 -2 0 0 0 1 1 0 4 0 0 0 0 0
Generator Power 2 -1 -2 -1 -1 -1 -1 -4 0 0 . 0 1 1 0 0 0 - 0 0 0 0 0
Turbulence Intensity 3 A 1 0 e 2 2 7 2 S 0 -1 0 - 0 0 0 0 1 0 0 1 1




